53. Wp TAKS REASONING The bar graph shows the number of households
with a television for various years during the period 1990-2001.
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a. Find a linear equation that models the number of households T (in
millions) with a television as a function of the number of years since
1990. Explain how you found your model.

b. During the period 1990-2001, the percent P (in decimal form) of
television households that also have a VCR can be modeled by

P = —0.0015¢* + 0.032¢ + 0.069

where ¢ is the number of years since 1990. Write an equation that
models the number of households V (in millions) with a VCR and a
television as a function of the number of years since 1990.

c. Use the equation from part (b) to predict the number of households
that had a VCR and a television in 2002 and in 2005.

54. CHALLENGE For the period 1990-2001, the total United States energy
consumption C (in quadrillion British Thermal Units, or BTU) and the
percent P of the total energy that was consumed in the United States for
industrial purposes can be modeled by

C=15¢+ 84
P= —0.05f> + 0.25¢ + 38

where ¢ is the number of years since 1990.

a. Find the percent of total energy that was consumed in the
United States for industrial purposes in 2000.

b. Write an equation that gives the total energy (in quadrillion BTU)
consumed in the United States for industrial purposes as a function
of the number of years since 1990. To write the equation, you may
need to rewrite one of the given equations.
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